How to Use Machine History and Indented BOM in GPP

Product Line catalog must be selected.

From the main GPP Menu, click Machine History

= Suwndlygne | Matonal Process Equipment  SeE 1 for... EM : v

——-

Machine History Quick Order Quote History Order History Invaice History

Home [/ Machine History

Machine History
Bachine History Inquiries are for inforrmational purposes only.
Please ba sure to check the DOCLUMENTS tab for any additional changes that might not be reflected in the parts list

You rmay net be able to add items from the parts list to your shopping cart If your accownt is restricted. If your access allows malntenance of & shopping cart.you can modify
quantities on that page

Serlal # ADDD163-01 m

Enter the serial number (s/n) and click Search. The s/n must be entered exactly including capital letters,
dashes, etc. There are no wildcards.

Machine History Quick Order Quote History Order History Invoice History
Serial # AQ0D163-01 m
Documents
®  Part Number Description uom Quantity Location ¥ Assembly

02-018DG SCREW, HHC,1/4".20-UNCX1/2"LG EA 3 905G NA
02-018DG SCREW,HHC,1/4"-20-UNCX1/2°LG EA 3 905L NA
02-39882 SCREW,HHC,3/8"-16-UNCX 2 3/4" EA 4 NA
03-026D8 SCREW,SHC, 1/4".20-UNCX2-1/2"LG EA 6 906F NA
03-142AA SCREW,SHC, 3/8"-16-UNCX7/8"LG EA 4 906E NA
04-021AD NUT HEAVY-HEX.3/4"-10-UNC EA 16 914A NA
07-010DJ) WASHER LOCK, 3/8" EA El 154AA NA
07-010D) WASHER.LOCK 3/8" EA E 9168 NA
07-015DJ WASHER, LOCK, 1/4" EA 6 916K NA
12.019B8B STUD,3/4"-10X2-1/2"LG, TENSILE EA 16 911 NA

For s/ns newer than the year 1999 there should be a Parts List. The “as built” parts list is shown along
with any changes made throughout the lifecycle of the s/n. We strongly recommend to always review
all the files in the Document tab. Changes may be applicable in the documents that were not made
electronically in the Parts List tab.



An error will appear if there’s no Parts List on older s/ns. Click on the Documents tab to review the final
data package.

From here you can click the boxes to the left of the part number and Add to Cart or Add to List on the
bottom of the page.

RMGAKOSR) RING,MATING EA 1 A MNA

SEDSAADES SEAL EA 1 DA MNA

prpr——

If there’s items added to the Cart or List that don’t have a price or aren’t in the applicable catalog, an
error message will appear.

= Sundyne | aons L e S P
Machine History Quick Order Quote History Order History Imvoice History
Your Cart
i
Item Number Description Lead Time  Awailability Quantity UOM List Price Met Price Total Delete
[1m Wiark Dhaya]
]
02-018DG SCREW HHC,1/4"-20 % m
. LHHE, 1/4"-20- E y - " e e
UNCH1/2°LE : L EA $26.00 $22.488 $68.64 m
Item Cross Ref #
]
12-010BE STUD,3/4"-10K2- B 6 ; 7 A8 §.37 ™
1/2°L1G, TENSILE U 23 | EA $17.46 $15.37 §245.84 [m
It Cross Rel #
]
32-113A8 SCREW,SET.1/2"-13X2°LG 15 ] =  EA $29.00 §25.52 4£76.56 ﬂﬁ

Please be aware that parts added to the Cart or List from Machine History will add the quantity of the
part that was used to assemble the unit. The quantity can be changed in the Cart or List.

The quantity shown in the mini-cart is the accumulated total of the quantity entered for each line.



To review the Documents click on the Documents tab:

Machine History Cuick Order Quote History Order History Invoice History

Machine History Inguiries ara for informational purposes only.
Pleasie he sure to chadk the DOCUMENTS tah far any additional changes that might not be reflacted in the parts list.

You may not be abda to add items from the parts list to your shopping cart if your account is restricted. If your access allows maintenance of a shopping cart,you can modify
quantities on thal gage

6112(10-23-2008 16-27-20).tif Download

123121{10-23-2008 16-27-21).tif Download

Documents shown are from the Data Package Parts List and Site Reports folders.

Click Download to open the document.

The below error message will appear if an invalid s/n is entered or the incorrect catalog is selected.

= Matioral Process Equpmeni m searching for EM w :- fl:l

e g

Machine History Quick Order Quote History Order History Invoice History

A Entered Serial number nod found in selected Catalog

Machine History Inguiries are for informational purposes only.
Phease be sure bo check the DOCUMENTS tak: foe any additional changes that might nob ba reflectsd in the parts list,

You may not be able fo add items from the parts st oo your shopping cart if your account is restricted. | your access allows maintenance of a shopping cart,you can modiby
quantities on that page

Serial # 2000163-01 m

There may be no Parts List, but always click on the Document tab to see any final data packages.

If you can’t find the s/n you’re looking for, please contact Customer Service for assistance.



View Indented BOM for Assemblies

In Machine History, certain part families that are manufactured/assembled will have a View button to
the right on the Parts List tab. If not applicable, NA appears.

RI9AK10RE OBSOLETE REPLACED BY RJ09AAZAR ER 1 51D M
SEQSAASIA OBSOLETE REPLACED BY SEQ4AAS3G EA 1 6OC A
C SHOMAKDT1T50 SHAFT.HIGH 5PEED ASSY.BCE&D BUI EA 1 A130 m

Click the View button to review indented BOM for that item.

Machine History Quick Order Quote History Order History Invoice Histary

Home © Machine Hisiory £ Maching Assemily

Assembly BOM

SHOMAKOT750 - SHAFT,HIGH SPEED.ASSY,BC&D BUI

(] Part & uoM Quantity Part Description

= GEDSAADITS EA 1 GEAR.PINION,Z00HP

m RUD1AADT EA 1 RUMNER THRUST

u RUOTAKDZ EA 1 THRUST RUNNER
SHOZAKOTBC EA 1 SHAFT,HIGH SPEED, 2008 400HP.
11-004A4 EA 1 KEY.WOODRUFFE,1/4"X3/4°LG

Covrocr [ s

Click on applicable parts to Add to Cart or List. The quantity shown is what will auto populate in the Cart
or List and can be changed there.

If parts exist in the selected catalog’s Cart, these items will append the current Cart.

E Surndgne | Mational Process Bquipment = 'm seanching fo EM ® . @

Ferurn -

Machine History Quick Order Quote History Order History Imvoice History
]
.
SEOSAADES SEAL &0 o i1 = EA 34,296.00 33.760.48 $3.780.48 u]]
Iiin Cross Ref
-
GEOSAADTS GEAR,PINION, 200HP 30 3 1 = EA £2,370.00 §2 08560 2.085,60 i}

Item Cross Ref #

RUDAKDZ THRUST RUNMER

w
]

EA $911.00 §801.68 $801.68

=

Item Cross Ref #






